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You are working on a project and you have to decide which language you will select for its development. Let us consider that the same functionality is implemented in Assembly Language and in C++ language. Lines of code in Assembly language are 4 times as compared to C++ language because coding in Assembly is much more difficult and time consuming as compared to C++. The requirements, design and documentation activity in person month are the same in both the languages but integration & testing and Management activity is thrice in assembly language.

	
	Assembly Language
	C++ Language 
	Difference

	Source code Size
	10,000
	
	

	Activity in person months

	          Requirements
	5
	
	

	          Design
	10
	
	

	          Coding
	40
	
	

	          Documentation
	10
	
	

	          Integration and Testing
	15
	
	

	          Management
	15
	
	

	Total Effort
	
	
	

	Total Cost
	
	
	

	Cost per Line
	Rs.15
	
	

	Lines Per Person-Month
	
	
	


a. You have to fill out the above table according to the given scenario and calculate total effort, total cost, and lines per person month. (10 Marks)

b. Why coding in Assembly language appears to be more cost effective than C++ while in reality it is not. This is a paradox! Explain. (10 Marks)

.

